Name 5(/)/ U “// /O/ )5 gnVision Geometry

_@__ PearsonRealize.com
3-1 Additional Practice B remontete

Reflections

Tell whether the transformation appears to be a rigid motion. Explain.

Preimage Image Preimage Image
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Show the reflection of AABC across line 2,
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5. Suppose the equation of line £ is x = 1. ty
Given points M(3, 3), N(4, 4), and O(5, 2), graph N L P
AMNO and the reflection image R (AMNO). = NG
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6. Understand What is the reflection rule for the triangle and image with
coordinates A(2, 4), B(4, 6), C(5, 2), and A'(—4, —2), B'(—6, —4), C'(— }?7

/A)m[;r/y)=/%-x)_ wheet T ,WMM’ of Ache M 15 y., -

7. Apply Student A sits in a chair facing a mirror and sees

BI
the reflection image B’ of Student B in the mirror. L
Show the actual position of Student B. mirror
R
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Translations

What is the rule for the translation shown?
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The vertices of AABC are A(2, —3), B(—3, —5), and C(4, 1). For each translation, give
the vertices of AA’'B'C'.

3. T(_y 3y (AABC) 4. T(_q _1y (AABQ) 5. T4, 6 (AABC)
A't,0) C'24) Al (=2,-4) p! (l,3)
B’ (-5,-2) 6 (-7,-0) 6/ (1,1
¢ (o0,0) el (8,1
Write the composition of transformatlons as one transformation. Graph -8 in t/ a£
apiral,
6. Tia,5)°T(3,1) 7. Ti-1,-3y°T2, -2 8. T(1,1)°T(-4,-3)
T 7> P
) T‘<7} Uy /</, -57 <~3,-27

Given AXYZ with vertices X(—2, 1), Y(—1, 3), and Z(—4, 2), write the translation
equivalent to the composition of transformations. Suppose the equation of line
mis x = 5, the equatlon of line n |s y=4, and the equation gj linepisx=3.

7 n
c__

J = Ty /i‘

9 Rm Ry—ams 10. R "Rx-ax:s' 1. Rp °Ry-a><|sl

Voo (AXP2) To-es(AXPZ)  Tefor (AXY2)

¢ 12. Understand How far apart are two parallel lines # and m such that
T(a, 0y (ADEF) = Rpy sRMADER? 7., A<

13. Apply The compositic;n of rigid motions T g, y °T_23, —3) describes the route of

a limousine in New York City from its starting position. How would you describe
the route in words?

The Acmmacue sliives 23 LLockS weds

anel 3 blocks SOUASA, FhnO /O blocksS _east arnl
2 blocks nori4.
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